














(®)  Solve the following system of linear equations by using the inverse matrix method:
2.’( + 3'1' = 7
1

,=-'_Y
) 2

—

(<) By using the transformartion matrix (1 g , find the image of the point A(-2,3).
0
Hence, state the axis in which this point is reflected.

(@)  Calculate the values of f(l) and f(-7) iff is defined by

x+2 for x<0

f(x)={2 for 0sxs2

(b) Using the information given in part (a), find £~'(-1).

A trader has a space for 5 refrigerators. The trader plans to spend 2,400,000
shillings to buy refrigerators of two brands, Hitachi and Sony. Each Hitachi
refrigerator costs 600,000 shillings whereas each Sony refrigerator costs 400,000
shillings. The unit profits for Hitachi and Sony refrigerators are 200,000 shillings
and 150,000 shillings respectively. Denoting x and y as the number of Hitachi

and Sony refrigerators respectively, determine the number of refrigerators for each

(c)

brand that maximizes the profit.
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